Lesson 10

KNOW

1- Imperfect act. Ind.  Endings (with augment)   (which are identical to your 2nd aorist active, ind. Endings, just no stem change)!

2- Imperfect passive/middle endings:  (which again are identical to your 2nd aorist middle endings).

3- Verb  - the infinitive “to be” is
4- The info on the bottom of page 63 and top of 64 is good food for thought for now.

Vocab

Imperfect is based off of the first principle part, and so it has that continuous action (as a motion picture) only it’s in the past.  So instead of the aorist “I loosed,” you get “I was loosing”.  OR “I was being loosed.”

